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maxfmax

𝑇𝑚𝑎𝑥 = 40 𝑘𝑁 , 𝑀𝑓𝑚𝑎𝑥 = 110 𝑘𝑁. 𝑚

𝝈𝒎𝒂𝒙 ≤ 𝝈 ̅ ⇒
𝑴𝒇 𝒎𝒂𝒙

𝑾𝒙𝒙′
≤ 𝝈̅

𝑊𝑥𝑥′ =
110 × 105

160 × 102
= 687.5 𝑐𝑚2

𝑊𝑥𝑥′ = 713.1 𝑐𝑚3







𝚺𝑭/𝒚 = 𝟎 ⇒ −𝑷𝟑 + 𝑵𝑮𝑭 𝐬𝐢𝐧 𝜷 = 𝟎

⇒ 𝑵𝑮𝑭 = 𝟏𝟕𝟐𝟎. 𝟒𝟕 𝒅𝒂𝑵



𝑁𝐴𝐵

𝑁𝐴𝐶

𝑁𝐴𝐷 = 𝑁𝐷𝐹

𝑁𝐵𝐶

𝐸𝐺𝑁𝐶𝐸

𝑁𝐶𝐷

𝑁𝐶𝐹

𝑁𝐸𝐹  
𝑁𝐺𝐹  

σ𝑚𝑎𝑥 ≤ 𝜎̅ ⇒
𝑁𝑚𝑎𝑥

𝑆
≤ 𝜎̅

 ⇒ 𝑆 ≥
𝑁𝑚𝑎𝑥

𝜎̅
⟹

𝜋 × 𝐷2

4
−

𝜋 × 𝑑2

4
≥

𝑁𝑚𝑎𝑥

𝜎̅

 ⇒ −
𝜋 × 𝑑2

4
≥

𝑁𝑚𝑎𝑥

𝜎̅
−

𝜋 × 𝐷2

4

⇒ −𝑑2 ≥ (
𝑁𝑚𝑎𝑥

𝜎̅
−

𝜋 × 𝐷2

4
) ×

4

𝜋

⇒ 𝑑2 ≤ −(
𝑁𝑚𝑎𝑥

𝜎̅
−

𝜋 × 𝐷2

4
) ×

4

𝜋

⇒ 𝑑 ≤ √− (
𝑁𝑚𝑎𝑥

𝜎̅
−

𝜋 × 𝐷2

4
) ×

4

𝜋
≅ 2.74 cm

𝑚𝑎𝑥 ≤ 𝜎̅𝑚𝑎𝑥 =
𝑁𝑚𝑎𝑥

𝑆
≥

𝑁𝑚𝑎𝑥

𝜎̅𝑚𝑎𝑥

 𝑁𝐴𝐶 = 3280.24 𝑑𝑎𝑁
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